(SN
<

g [l S
= 3
-G R B 1 ) ©
Bf e}
1072
103k
o svof 4 bad i o
I E AT i I
@ T 1T o o
0.95F £ 51 1 I ! I 0.9 R EE 35 5 AR AR
0.9~ T LLL . . 0.8 . .
10™ 1 10 0 -1 10™ 1 10 0 .1
TP, (PCA t% beamllnef) TP, (PCA t% beamllnef)
—=— DQM_TT__mkFit-DQM_original
—— DQM_TT__mkFit-DQM_original_newwindows
1] €
e c
> =
5 g
© 101H 1074
1072
1072
9103_ \ 0| AT | B B A B A o i ol ¥
I E 11 (T 4HE [+ IS E i
[ad ]__—04- +++ +t-L-eee [ad ]__— CE o R R
0.9FAff!----- T SR S E B AT PERPERP 0.9F B S H R R N P PEPPEPPEE
E T E 1:
0.85 - . 0.85—
10 1 10 1

2 3 2 3
TPl[g)T (PCA f%)obeamlinép TPl[g)T (PCA f%)obeamlinép




	Contents
	Page 1


